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Direction (QNo. 16) Select the appro-
- priate word which is nearest in meaning to

the word given in capitals.

16. AMBITION
(a) Desire (b) Goal
(c) Aspiration (d) Expectation

Direction (Q.No. 17) From the given
words select the one which is opposite in
meaning to the word given in capitals.

17. BRILLIANT
(a) Dull (b) Dumb
(c) Dusty (d) Dud

18. Give one word substitute
One who looks at the bright sides of life/things.
. (a) Theist (b) Pessimist
(c) Optimist (d) Opague
49. Choose the correct word
(a) Commission
(c) Commision
20. Fill in the blank with suitable preposition.
| will go to market .... my mother

(b) Comission
(d) Comision

(a) at ' (b) with  (c) by (d) on
21. Select the correct verb.
Ram ..... a sweet song.
(a) song (b) sung
(c) sings (d) sing

22. Fill in the blank with suitable article.

Radhais ...... wisest girl in the class.
(a)a (b) an
(c) the (d) None of these
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Directions (Q. Nos. 23-25) Find out
the part which has an error in each of the
following sentences. If there is no errorina
sentence, the answer is (d).

23, The greater (a)/ the demand (p)/ higher lhe

price (c)f No error (d)

24. Mohan prefer self-employment (a)/ to job in (by/

any ollice (c)/ No error (d)
/ so | cannot afford (b)/ to

25. | am nol wealthy (a)
(c)/ No errar (d)

buy a expensive car.
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